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.  Which statement can be used to determine the numerical value of h?
1) [image: image5.png]R = 6% + 9% - 2(9)(k) cos 5T°



   2) [image: image6.png]Y = 6%+ 9% - 2(6)(9) cos 57°



   3) [image: image7.png]62 = 9%+ h® - 2(9)(k) cos 5T°



   4) [image: image8.png]9% = 62 + h* - 2(6)(k) cos 5T°
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, if  [image: image10.png]
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.  What is the length of c?
1) 7   2) [image: image13.png]


   3) [image: image14.png]


   4) [image: image15.png]
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.  What is the length of t?
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, and [image: image23.png]cos C



.  Find c.
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In [image: image24.png]MABC
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, and [image: image27.png]cosB=



.  Find b.
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In [image: image28.png]MABC
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, [image: image30.png]


, and [image: image31.png]


.  Find the length of side c.
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In triangle ABC, [image: image32.png]
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.  What is the length of side c?
1) [image: image35.png]


   2) [image: image36.png]


   3) 28   4) [image: image37.png]




8
In triangle ABC, [image: image38.png]
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.  The length of side c is
1) [image: image41.png]


   2) 2   3) [image: image42.png]


   4) [image: image43.png]
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.  What is the length of side c to the nearest integer?
1) 5   2) 10   3) 11   4) 20
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, the length of  f  is
1) 7   2) [image: image52.png]


   3) [image: image53.png]


   4) [image: image54.png]
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.  The value of c is
1) 1   2) [image: image59.png]


   3) [image: image60.png]


   4) [image: image61.png]
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.  Find the value of  c.
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In triangle ABC, [image: image66.png]
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.  Find the length of side c.
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.  Find the length of side c.

15
In [image: image73.png]MABC
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.  What is the length of c?
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